€))

-1.1

1.1

1.2

1.1

1.2




START

(PGV)

AVS30

PGV)

STEP-1

250m

2003

- PGV

A 4

A 4

A STEP-2

100m

250m

250m

STEP-1

-1.1




L BEE

AHTE

_cHE _.'-':..'.' ili
=
] ]
_!lc%.i
A-EHLERRE T —Vion,
MEIEEETHEER Wi o R R
AW AR,
. _ RAOl—EEHEaEREF— ikl
EFMLUATERMNETTA | @B fEaiss
b Lo TR R SR A BT ]
i Ay
ERMLi AT EMREETA | BRILVER, TR
AR S, e
W
B EET L LR Tt Ea T
ENENER ST Rl
dHEERE=TL ERm=, mAERIORE

o F 4 B B 10
T

1.2

L1

[ GxEne
[ wvidknlEan
=t

Il #af SaPm
e

(i BRI

LES




@

D

2.1
o 1999
log,, A=a-Mw+h-D+> dl-S +e-log,,(xeq) —kx (
A
Xeq
D [km]
Mw [ ]
A ¢ =0.0055x10""" k=0.003
A c=0.0028x10""" k=0.002
h e
Crustal Inter-Plate | Intra-Plate
(gal) 0.5 0.0036 0 0.09 0.28 0.60
(kine) 0.58 0.0031 0 0.06 0.16 -1.25
Vs30 600m/s
1 21 394
2
3 w 5.8 8.3
4 6km 120km
5
(@]
1)
r(km)
1989

r = 100.5M -2.28




Xe = r/w/In|1+(r/X)2|

(km)
X: (km)
2)
o
1999
30m (AVS30)
250m
(kine) (kine)x
30m (AVS30) 2006
ARV
log ARV = 2.367 — 0.8521log AVS30 + 0.166
AVS30 m/s
AVS30
(1994) 30m (AVS30)
log AVS30=a+blogEv+clogS$+dlogDm+ o

Ev: (m)

F: ( x 1000)

Dm: (m)

ab,cd o
D s AR 4 (R e MUV BR B0) Rz
a b ¢ d o
Ip 13t (Fesh =) 2.900 0 0 0 0.139
1t 1Lt (F=5%) 2.807 0 0 0 0.117
2 1L 2.602 0 0 0 0.092
3 FefE 2.349 0 0.152(0.219) 0 0.175
4 Kl 2.708 0 0 0 0.162
5 AL 2.315 0 0.094(0.382) 0 0.100
6 Je i g 2.608 0 0 0 0.059
7 HREH 2.546 0 0 0 0.094
8 PR & R 2.493  0.072(0.270) 0.027(0.101)  —0.164(~0.33) 0.122
9 v — AFH 2.206 0.093(0.269) 0.065(0.223) 0 0.115
10 A 2.266 0.144(0.447) 0.016(0.040) —0.113(-0.265} 0.158
11 FRk 2.350  0.085(0.419) 0.015(0.059) 0 0.116
12 B SRIERG 2.204  0.100(0.368) 0 0 0.124
13 fEasplisiih 2.190 0.038(0.178) 0 —0.041(~0.152) 0.116
14 [J=REipi=1 2.264 0 .0 0 0.091
15 | ZMA- M | 2.317 0 0 —0.103(~0.403) 0.107
16 T - RN 2.415 0 i} 0 0.114
17 W 2.289 0 0 0 0.123
18 T 2.373 0 0 —0.124(~0.468) 0.123
19 iRvA ) 2.404 0 0 —0.139(~0.418) 0.120
30m AVS30

€q
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250m




S 300m/s
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3.1

26 2006.12.7 (H16.11.29)
5km
45 60
45
45 45
70
4km Vs=3,000m/s 2km (2001)
W=1L L < Wmax (1-a)
W= Wmax L Wmax (1-b)
) Wmax = Ws/sin®
Ws: (Ws 20km) Ws = Hd Hs
0: Hd Hs: Ito 1999
(e}
45°
90°
45°
0-30° 60-90°
Ds(km) Hs km
© Mo(dyn cm 3) S(km2)
(km) ,1975 6 Somerville et al.(1999)
log 0.6 M §=2.23x 1075x Mo¥3 @
2004 7 2001
Mw = 0.88M 0.54 S=4.24x 1071x MoM/2 ®)
M = 0.88 (log ) 291km? 4.7x 10®[dyn cm] Mw6.4 [©)
1.0x 10% [dyn cm]
Mo
o
MO N m 1.5
log MO 1.5Mw + 9.1 Moi=Mo Si*/% Si'® —— (4)
Moi
Si
" Vo D(m) D(cm) Mo(dyn cm) (cm?) u (dyn/cm?)
o M
u Mo=y D S_ ®)
o
Somervilleetal . (1999)
(2001) Mo A(dyn cm/s2=10-7N
20% m/s2) ,2002
A=2.46% 1017x Mo* ——(6)
Sa A =V (Sa/m))
r (6 A (]
r=(7r /4) (Mo/(A R)) B? ——(7)
7 Mo A @)
(Boatwright,1988) © ( ,2001)
Mo=(16/7)x r2 R oga———(8)
A=4mt v cga B2 —(9)
R S oa B
® O
(2002) Soridig oy *°
22%(Somerville et al.,
1999) 15% 27%( ,2001)
16:6 ,2001
Da D «a
Sa Da Somerville et al.,1999 ,2000 a-=
Moa=p DaSa Da=a D —— (10)
1l Db Mo
Moai Moa Mob Sb
Sai  3/2
Moai=Moa Sai*? Moa=y  Da Sa —— (11)
Mob=Mo Moa —— — (12)
Mo Db=Mob/(u  Sb) ——— (13)
Moa H )
Mob Mo Moa Dai i
Mob Sai ri
Db Mob (u  Sh) i Dai/ri=
v}
Sb Dai=(y i/2y i®) ba — 14
yi ri/r Dai r
o oa @) (15)
o a=(7/16)x Mo/(r? R) —— 15
0.2
oa
cb (2002)
= ( ) ( x2)
Wa
o b=(Db/Wb) (Da/Wa) ca ——— 16
o b=(Db/Mb) (m1/2/Da) r Iy i’ ca—mM—— 17
b S
1AW WalS. L. 202
fmax 6Hz 2001 2000 fmax=6Hz
max fmax=6Hz
(2000) (2000)
dD(t)/dt=
2vm/td  t(1-t/2td) O<t<tb
b/ (t-g )2 th <t<tr - (8)
c-ar(t-tr) tr <t<ts
0 <0 or t>ts
€ =(5tb-6td)/{4(1-td/tb)}
b=2vm th/td (tb-g )* (1-tb/2td)
c,ar tro(ts-tr)=2:1
Vr
Vim
td
1/t1/2 Kostrov tb
tr
Vm
Vm= o (2 fc W Vr)1/2/p 19
fc (fmax )
W w=Wa
W=Wh
fmax fmax=10Hz
td
fmax 1/(m  td) (20)
/¢72 Kostrov th
(18)
tr
tr W/ Vr) (21)
Vr(km/s) S Vs  3.5km/s Vr(km/s) Geller(1976) Vs(km/s)
Vr 0.72vs
Vr=0.72 Vs (22)
Somerville et al.(1999) (2001)

(2001)




